

1508 Industrial Boulevard Suite 204 McKinney, TX 75069

www.GarverUSA.com

December 3, 2025

Ken Carley, AAAE McKinney National Airport 1508 Industrial Blvd. McKinney, TX 75069

Re: TKI – McKinney National Airport

26-03ITB New Taxiway C and Airport Roundabout

Recommendation of Award

Dear Mr. Carley,

Bids were received for the "New Taxiway C and Airport Roundabout" project at the City of McKinney Purchasing Department at 2:00 PM on November 20<sup>th</sup>, 2025. The bids have been checked for accuracy and for compliance with the contract documents. A tabulation of the bids received is enclosed with this letter.

A total of five (5) bids were received for this project. Mario Sinacola & Sons Excavating, Inc submitted the low bid for the project for bid schedules 1 and 2 in the amount of **\$16,036,916.22**. Below is a summary for each received bid.

26-03ITB New Taxiway C and Airport Roundabout Bid Results													
	Bid Schedule 1 – New Taxiway C	Bid Alternate 1 – Paved Taxiway Shoulder Deduction	Bid Schedule 2 – Airport Roundabout	Total (Bid Schedule 1 + Bid Schedule 2)									
Engineer's Estimate	\$14,117,537.50	(\$1,360,000.00)	\$5,773,841.00	\$19,891,378.50									
Mario Sinacola & Sons, Inc	\$11,424,247.89	(\$1,084,451.40)	\$4,612,668.33	\$16,036,916.22									
RPMx Construction, LLC	\$12,431,167.25	(\$780,292.50)	\$5,122,621.18	\$17,553,788.43									
Webber, LLC	\$12,505,819.54	(\$979,234.30)	\$6,731,402.86	\$19,237,222.40									
Zachry Construction Corp	\$14,956,493.98	(\$917,973.99)	\$5,042,434.99	\$19,998,928.97									
SEMA Construction, Inc.	\$16,092,490.93	(\$1,101,007.45)	\$5,485,424.22	\$21,577,915.15									

### 26-03ITB Recommendation of Award Page 2 of 2

In review of the bid received from Mario Sinacola & Sons Excavating, Inc, we believe the bid submitted by them represents a good value to the City of McKinney and McKinney National Airport. Therefore, we recommend awarding the contract for this bid to Mario Sinacola & Sons Excavating, Inc for *Bid Schedule 1 – New Taxiway C* and *Bid Schedule 2 – Airport Roundabout*, for a total project contract amount of \$16,036,916.22. Also, we recommend not awarding *Bid Alternate 1 – Paved Taxiway Shoulder Deduction* since the total project contract amount for Bid Schedules 1 and 2 is within the available funding and the inclusion of the paved shoulders within Bid Schedule 1 enhances the operational safety of the airport on the eastside.

Please let me know if you have any questions or comments regarding this recommendation of award.

Sincerely,

GARVER, LLC

Mitchell McAnally, PE, PMP Aviation Region Leader

Mishell We all

Attachments: Bid Tabulation

L:\2023\23A11174 - TKI - Eastside Design\Airside\Bidding\Recommendation of Award\TKI Taxiway C and Airport Roundabout - Recommendation of Award 2025-12-03.docm

### MCKINNEY NATIONAL AIRPORT TAXIWAY C CONSTRUCTION BID TABULATION - BID SCHEDULE 1 - NEW TAXIWAY C BID OPENING: NOVEMBER 20TH, 2025; 2:00 PM

BID OPENING: NOVEMBER 20TH, 2025; 2:00 PM								Mario Sinacola & Sons Excavating,										
					ENGINEER'S E	STIMATE		k Sons Excavating, nc.	RPMx Con	struction, LLC	We	bber, LLC	Zachry Co	nstruction Corp	SEMA Construction, Inc.			
ITEM NO.	SPEC. NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
1	SS-120-3.1a	CONSTRUCTION SAFETY AND SECURITY - PHASE 1	L.S.	1	\$345,000.00	\$345,000.00	\$300,000.00	\$300,000.00	\$500,000.00	\$500,000.00	\$231,000.00	\$231,000.00	\$400,000.00	\$400,000.00	\$204,839.27	\$204,839.27		
2	SS-120-3.1b	CONSTRUCTION SAFETY AND SECURITY - PHASE 2	L.S.	1	\$325,000.00	\$325,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$135,000.00	\$135,000.00	\$35,000.00	\$35,000.00	\$147,141.62	\$147,141.62		
3	SS-120-3.2	TEMPORARY PIPELINE MAT CROSSING (INSTALL AND REMOVE)	L.S.	1	\$10,000.00	\$10,000.00	\$32,000.00	\$32,000.00	\$98,000.00	\$98,000.00	\$5,000.00	\$5,000.00	\$69,121.35	\$69,121.35	\$141,053.81	\$141,053.81		
4	SS-130-4.1	TRENCH AND EXCAVATION SAFETY SYSTEMS	L.S.	1	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$32,628.60	\$32,628.60	\$6,310.85	\$6,310.85	\$14,831.95	\$14,831.95		
5	SS-300-5.1	LOCKOUT/TAGOUT AND CONSTANT	L.S.	1	\$5,000.00	\$5,000.00	\$7,875.00	\$7,875.00	\$7,875.00	\$7,875.00	\$16,000.00	\$16,000.00	\$8,071.88	\$8,071.88	\$7,922.78	\$7,922.78		
6	SS-300-5.2	ELECTRICAL VAULT MODIFICATIONS	L.S.	1	\$50,000.00	\$50,000.00	\$71,766.25	\$71,766.25	\$151,490.00	\$151,490.00	\$53,104.50	\$53,104.50	\$63,310.41	\$63,310.41	\$62,141.00	\$62,141.00		
7	SS-300-5.3	L-828, 10 kW, LIGHTING REGULATOR WITH EXTERNAL S-1 CUTOUT AND EXTERNAL DCMU, INSTALLED	EACH	2	\$30,000.00	\$60,000.00	\$22,575.00	\$45,150.00	\$22,600.00	\$45,200.00	\$20,000.00	\$40,000.00	\$23,139.38	\$46,278.76	\$22,711.97	\$45,423.94		
8	SS-301-5.1	EXISTING BASE MOUNTED EDGE LIGHT, REMOVED	EACH	1	\$500.00	\$500.00	\$157.50	\$157.50	\$157.50	\$157.50	\$380.00	\$380.00	\$161.44	\$161.44	\$158.46	\$158.46		
9	SS-301-5.2	EXISTING BLANK COVER, REMOVED	EACH	20	\$75.00	\$1,500.00	\$89.25	\$1,785.00	\$89.25	\$1,785.00	\$250.00	\$5,000.00	\$91.48	\$1,829.60	\$89.79	\$1,795.80		
10	C-100-14.1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L.S.	1	\$65,000.00	\$65,000.00	\$82,000.00	\$82,000.00	\$300,000.00	\$300,000.00	\$184,690.00	\$184,690.00	\$500,000.00	\$500,000.00	\$288,953.84	\$288,953.84		
11	C-102-5.1a	TEMPORARY SEDIMENT CONTROL FENCE (INSTALL)	L.F.	3,500	\$10.00	\$35,000.00	\$3.26	\$11,410.00	\$3.70	\$12,950.00	\$3.75	\$13,125.00	\$3.26	\$11,410.00	\$3.28	\$11,480.00		
12	C-102-5.1b	TEMPORARY SEDIMENT CONTROL FENCE (REMOVE)	L.F.	3,500	\$4.00	\$14,000.00	\$0.10	\$350.00	\$0.90	\$3,150.00	\$0.89	\$3,115.00	\$0.77	\$2,695.00	\$0.77	\$2,695.00		
13		ROCK FILTER DAMS (INSTALL) (TYPE 2)	EACH	24	\$100.00	\$2,400.00	\$966.52	\$23,196.48	\$1,090.00	\$26,160.00		\$26,689.68		\$23,196.48	\$972.38	\$23,337.12		
14		ROCK FILTER DAMS (REMOVE)	EACH	24 6	\$40.00	\$960.00	\$25.00	\$600.00	\$295.00	\$7,080.00	\$301.34	\$7,232.16		\$6,285.60	\$263.49	\$6,323.76		
15 16		HEADWALL SILT TRAP (INSTALL) HEADWALL SILT TRAP (REMOVE)	EACH EACH	6	\$60.00 \$20.00	\$360.00 \$120.00	\$730.47 \$50.00	\$4,382.82 \$300.00	\$825.00 \$425.00	\$4,950.00 \$2,550.00	\$840.47 \$432.47	\$5,042.82 \$2,594.82		\$4,383.00 \$2,255.22	\$734.90 \$378.15	\$4,409.40 \$2,268.90		
17		CONCRETE WASHOUT (INSTALL)	EACH	1	\$300.00	\$300.00		\$1,500.00	\$945.00	\$945.00		, ,	\$14,027.89	\$14,027.89	·	\$2,268.45		
18	C-102-5.4b	CONCRETE WASHOUT (REMOVE)	EACH	1	\$50.00	\$50.00	\$500.00	\$500.00	\$210.00	\$210.00	\$10,000.00	\$10,000.00	\$5,340.53	\$5,340.53	\$1,294.21	\$1,294.21		
19	C-102-5.5a	CONSTRUCTION EXITS (INSTALL) (TYPE 1)	EACH	1	\$200.00	\$200.00	\$3,204.09	\$3,204.09	\$3,610.00	\$3,610.00	\$3,686.58	\$3,686.58	\$3,204.09	\$3,204.09	\$3,118.96	\$3,118.96		
20	C-102-5.5b	CONSTRUCTION EXITS (REMOVE)	EACH	1	\$50.00	\$50.00	\$250.00	\$250.00	\$1,390.00	\$1,390.00	\$1,416.45	\$1,416.45	\$1,231.07	\$1,231.07	\$1,294.21	\$1,294.21		
21	C-102-5.6a	WATTLE DROP INLET PROTECTION (INSTALL)	EACH	2	\$200.00	\$400.00	\$225.25	\$450.50	\$255.00	\$510.00	\$259.17	\$518.34	\$225.25	\$450.50	\$226.62	\$453.24		
22	C-102-5.6b	WATTLE DROP INLET PROTECTION (REMOVE)	EACH	2	\$100.00	\$200.00	\$20.00	\$40.00	\$86.00	\$172.00	\$87.79	\$175.58	\$76.30	\$152.60	\$76.77	\$153.54		
23	C-105-6.1	MOBILIZATION (MAXIMUM 10% OF TOTAL BID)	L.S.	1	\$1,414,000.00	\$1,414,000.00		\$1,000,000.00		\$1,150,000.00			\$1,300,000.00	\$1,300,000.00		\$1,454,746.47		
24 25		GRAVEL ROAD REMOVAL  CONCRETE PAVEMENT REMOVAL	S.Y. S.Y.	2,500 110	\$8.00 \$15.00	\$20,000.00 \$1,650.00	\$2.50 \$15.00	\$6,250.00 \$1,650.00	\$5.00 \$12.00	\$12,500.00 \$1,320.00		\$24,475.00 \$7,091.70		\$7,775.00 \$1,789.70		\$43,975.00 \$4,701.40		
26		EMBANKMENT IN PLACE	C.Y.	65,800	\$25.00	\$1,645,000.00	\$31.00	\$2,039,800.00	\$28.00	\$1,842,400.00	\$39.00	\$2,566,200.00		\$2,689,904.00	\$51.54	\$3,391,332.00		
27	-	SELECT FILL IN PLACE	C.Y.	16,050	\$35.00	\$561,750.00		\$561,750.00	\$17.00	\$272,850.00	\$38.46	\$617,283.00		\$623,542.50		\$1,149,501.00		
28		UNSUITABLE EXCAVATION	C.Y.	2,000	\$40.00	\$80,000.00		\$104,000.00	\$5.00	\$10,000.00		\$44,960.00		\$160,000.00		\$35,600.00		
29		10" AGGREGATE BASE COURSE	S.Y.	14,500	\$35.00	\$507,500.00	\$28.00	\$406,000.00	\$28.00	\$406,000.00	\$29.15	\$422,675.00	\$35.04	\$508,080.00	\$32.10	\$465,450.00		
30	P-208-5.2	8" AGGREGATE BASE COURSE	S.Y.	2,700	\$33.00	\$89,100.00	\$27.00	\$72,900.00	\$22.00	\$59,400.00	\$24.19	\$65,313.00	\$30.33	\$81,891.00	\$33.83	\$91,341.00		
31	P-304-8.1	5" CEMENT-TREATED BASE COURSE	S.Y.	22,700	\$35.00	\$794,500.00	\$24.00	\$544,800.00	\$19.00	\$431,300.00	\$22.27	\$505,529.00	\$40.35	\$915,945.00	\$33.94	\$770,438.00		
32 33	P-304-8.2 P-403-8.1	6" CEMENT-TREATED BASE COURSE ASPHALT MIXTURE SURFACE COURSE	S.Y. TON	2,900 4,050	\$40.00 \$250.00	\$116,000.00 \$1,012,500.00	\$28.00 \$192.70	\$81,200.00 \$780,435.00	\$22.00 \$205.00	\$63,800.00 \$830,250.00		\$85,985.00 \$780,435.00		\$116,000.00 \$780,435.00	\$34.51 \$193.87	\$100,079.00 \$785,173.50		
34	P-501-8.1	15" CONCRETE PAVEMENT	S.Y.	20,700	\$150.00	\$3,105,000.00	\$115.00	\$2,380,500.00	\$147.00	\$3,042,900.00	\$120.00	\$2,484,000.00	\$160.68	\$3,326,076.00	\$164.93	\$3,414,051.00		
35	P-501-8.2	16" CONCRETE PAVEMENT	S.Y.	2,500	\$170.00	\$425,000.00	\$120.00	\$300,000.00	\$174.00	\$435,000.00	\$145.00	\$362,500.00	\$195.17	\$487,925.00	\$194.06	\$485,150.00		



1 of 3 Garver Project No. 2501188

					ENGINEER'	'S ESTIMATE	Mario Sinacola & In	O,	RPMx Co	nstruction, LLC	We	ebber, LLC	Zachry C	onstruction Corp	SEMA C	onstruction, Inc.
ITEM NO.	SPEC. NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
36	P-620-5.1a	RUNWAY AND TAXIWAY PAINTING (TYPE III REFLECTIVE MEDIA)	S.F.	14,800	\$4.00	\$59,200.00	\$1.46	\$21,608.00	\$4.50	\$66,600.00	\$2.85	\$42,180.00	\$2.03	\$30,044.00	\$2.01	\$29,748.00
37	P-620-5.1b	RUNWAY AND TAXIWAY PAINTING (TYPE I, GRADATION A REFLECTIVE MEDIA)	S.F.	1,000	\$4.00	\$4,000.00	\$1.07	\$1,070.00	\$2.50	\$2,500.00	\$2.53	\$2,530.00	\$1.37	\$1,370.00	\$1.36	\$1,360.00
38	P-620-5.1c	RUNWAY AND TAXIWAY PAINTING, BLACK (NO REFLECTIVE MEDIA)	S.F.	25,950	\$3.75	\$97,312.50	\$1.03	\$26,728.50	\$1.50	\$38,925.00	\$1.52	\$39,444.00	\$1.02	\$26,469.00	\$1.01	\$26,209.50
39	P-620-5.2	PAVEMENT MARKING REMOVAL	S.F.	1,750	\$2.50	\$4,375.00	\$0.94	\$1,645.00	\$3.80	\$6,650.00	\$3.80	\$6,650.00	\$3.55	\$6,212.50	\$3.52	\$6,160.00
40	F-162-5.1	7-FOOT CHAIN-LINK FENCE (GALVANIZED) WITH CONCRETE EROSION CONTROL STRIP	L.F.	1,090	\$85.00	\$92,650.00	\$69.65	\$75,918.50	\$115.00	\$125,350.00	\$69.65	\$75,918.50	\$124.25	\$135,432.50	\$137.80	\$150,202.00
41	F-162-5.2	CHAIN-LINK FENCE REMOVAL	L.F.	2,150	\$15.00	\$32,250.00	\$15.00	\$32,250.00	\$10.00	\$21,500.00	\$27.86	\$59,899.00	\$23.15	\$49,772.50	\$23.29	\$50,073.50
42	D-701-5.1a	18-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	96	\$135.00	\$12,960.00	\$135.00	\$12,960.00	\$97.00	\$9,312.00	\$160.60	\$15,417.60	\$133.28	\$12,794.88	\$175.43	\$16,841.28
43	D-701-5.1b	24-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	564	\$175.00	\$98,700.00	\$150.00	\$84,600.00	\$145.00	\$81,780.00	\$99.08	\$55,881.12	\$111.38	\$62,818.32	\$175.27	\$98,852.28
44	D-701-5.1c	24-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE, CONCRETE ENCASED	L.F.	216	\$250.00	\$54,000.00	\$270.00	\$58,320.00	\$187.00	\$40,392.00	\$104.65	\$22,604.40	\$193.03	\$41,694.48	\$290.50	\$62,748.00
45	D-701-5.1d	36-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	184	\$305.00	\$56,120.00	\$215.00	\$39,560.00	\$165.00	\$30,360.00	\$162.14	\$29,833.76	\$192.94	\$35,500.96	\$272.77	\$50,189.68
46	D-701-5.1e	42-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	176	\$325.00	\$57,200.00	\$250.00	\$44,000.00	\$195.00	\$34,320.00	\$189.70	\$33,387.20	\$243.81	\$42,910.56	\$317.46	\$55,872.96
47	D-701-5.1f	48-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	460	\$460.00	\$211,600.00	\$305.00	\$140,300.00	\$226.00	\$103,960.00	\$230.84	\$106,186.40	\$289.22	\$133,041.20	\$353.69	\$162,697.40
48	D-701-5.1g	54-INCH HIGH-PERFORMANCE POLYPROPYLENE PIPE	L.F.	148	\$560.00	\$82,880.00	\$390.00	\$57,720.00	\$303.00	\$44,844.00	\$309.48	\$45,803.04	\$390.81	\$57,839.88	\$477.53	\$70,674.44
49	D-701-5.1h	MISCELLANEOUS DRAINAGE STRUCTURE (24-INCH, 45-DEGREE BEND)	EACH	1	\$4,500.00	\$4,500.00	\$1,425.00	\$1,425.00	\$530.00	\$530.00	\$12,692.63	\$12,692.63	\$1.00	\$1.00	\$4,311.17	\$4,311.17
50	D-754-5.1	6" REINFORCED CONCRETE PILOT CHANNEL	S.Y.	4,200	\$135.00	\$567,000.00	\$100.00	\$420,000.00	\$98.00	\$411,600.00	\$83.44	\$350,448.00	\$85.72	\$360,024.00	\$114.89	\$482,538.00
51	T-904-5.1	SODDING	S.Y.	89,500	\$6.00	\$537,000.00	\$3.54	\$316,830.00	\$5.25	\$469,875.00	\$5.77	\$516,415.00	\$5.69	\$509,255.00	\$4.72	\$422,440.00
52	TX-247-6.1	FLEXIBLE BASE (COMPLETE IN PLACE) TYPE D, GRADE 1 (6")	S.Y.	1,300	\$20.00	\$26,000.00	\$20.00	\$26,000.00	\$16.00	\$20,800.00	\$23.35	\$30,355.00	\$20.35	\$26,455.00	\$22.57	\$29,341.00
53	TX-260-6.1	LIME TREATMENT (EXISTING MATERIAL AND NEW BASE) (12")	S.Y.	1,950	\$12.00	\$23,400.00	\$10.00	\$19,500.00	\$9.00	\$17,550.00	\$11.28	\$21,996.00	\$12.73	\$24,823.50	\$16.66	\$32,487.00
54 55		HYDRATED LIME (SLURRY) CONCRETE PAVEMENT CLASS P (8")	TON S.Y.	45 1,750	\$350.00 \$110.00	\$15,750.00 \$192,500.00	\$320.00 \$78.00	\$14,400.00 \$136,500.00	\$319.00 \$81.00	\$14,355.00 \$141,750.00	\$323.75 \$70.11	\$14,568.75 \$122,692.50	\$408.56 \$137.63	\$18,385.20 \$240,852.50	\$390.85 \$113.97	\$17,588.25 \$199,447.50
56	TX-465-6.1	3' X 3' PRECAST BASE (PB) WITH PRECAST SLAB LID (PSL) STYLE FG	EACH	1	\$15,000.00	\$15,000.00			\$6,300.00	. ,	\$11,464.47	\$11,464.47		\$10,523.07		\$7,969.10
57	TX-465-6.2	8' X 8' PRECAST BASE (PB) WITH PRECAST SLAB LID (PSL) STYLE FG	EACH	1	\$20,000.00	\$20,000.00	\$24,000.00	\$24,000.00	\$14,250.00	\$14,250.00	\$19,534.47	\$19,534.47	\$18,828.73	\$18,828.73	\$21,875.40	\$21,875.40
58	TX-465-6.3	8' X 8' PRECAST BASE (PB) WITH PRECAST SLAB LID (PSL) STYLE RC	EACH	3	\$20,000.00	\$60,000.00	\$27,000.00	\$81,000.00	\$14,835.00	\$44,505.00	\$20,787.43	\$62,362.29	\$16,497.45	\$49,492.35	\$20,666.33	\$61,998.99
59	TX-465-6.4	SLOPING INLET TYPE S (TXDOT TYPE IL-S) (18")	EACH	1	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$3,850.00	\$3,850.00	\$3,533.80	\$3,533.80	\$6,106.71	\$6,106.71	\$7,032.00	\$7,032.00
60	TX-465-6.5	SLOPING INLET TYPE S (TXDOT TYPE IL-S) (24")	EACH	6	\$11,000.00	\$66,000.00	\$8,500.00	\$51,000.00	\$5,275.00	\$31,650.00	\$4,128.80	\$24,772.80	\$6,314.52	\$37,887.12	\$8,498.44	\$50,990.64
61	TX-465-6.6	SLOPING INLET TYPE S (TXDOT TYPE IL-S) (42")	EACH	1	\$15,000.00	\$15,000.00	\$19,000.00	\$19,000.00	\$11,261.00	\$11,261.00	\$14,163.80	\$14,163.80	\$11,981.81	\$11,981.81	\$22,058.91	\$22,058.91
62	L-108-5.1	NO. 8 AWG, 5 KV, L-824, TYPE C CABLE, INSTALLED IN TRENCH, DUCT BANK OR CONDUIT	L.F.	31,000	\$4.25	\$131,750.00	\$4.73	\$146,630.00	\$4.75	\$147,250.00	\$3.00	\$93,000.00	\$4.85	\$150,350.00	\$4.76	\$147,560.00
63	L-108-5.2	NO. 6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTALLED, ABOVE THE DUCT BANK OR CONDUIT, INCLUDING CONNECTIONS/TERMINATIONS	L.F.	8,800	\$5.00	\$44,000.00	\$5.51	\$48,488.00	\$5.50	\$48,400.00	\$2.00	\$17,600.00	\$5.65	\$49,720.00	\$5.54	\$48,752.00



2 of 3 Garver Project No. 2501188

		E		ENGINEER	ENGINEER'S ESTIMATE Mario Sinacola & Sons Excavating, Inc.						ebber, LLC	Zachry C	chry Construction Corp S		SEMA Construction, Inc.	
ITEM NO.	SPEC. NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
64	L-110-5.1	FLOWABLE FILL ENCASED ELECTRICAL CONDUIT, 1-WAY 2-INCH C	L.F.	6,500	\$50.00	\$325,000.00	\$27.30	\$177,450.00	\$27.30	\$177,450.00	\$20.00	\$130,000.00	\$27.98	\$181,870.00	\$27.47	\$178,555.00
65	L-110-5.2	CONCRETE ENCASED ELECTRICAL CONDUIT, 1-WAY 2-INCH C	L.F.	950	\$40.00	\$38,000.00	\$39.38	\$37,411.00	\$39.40	\$37,430.00	\$25.00	\$23,750.00	\$40.36	\$38,342.00	\$39.62	\$37,639.00
66	L-110-5.3	NON-ENCASED ELECTRICAL CONDUIT,1- WAY 2-INCH C	L.F.	500	\$20.00	\$10,000.00	\$18.90	\$9,450.00	\$68.20	\$34,100.00	\$17.00	\$8,500.00	\$19.37	\$9,685.00	\$19.01	\$9,505.00
67	L-110-5.4	CONCRETE ENCASED ELECTRICAL DUCT BANK, 4-WAY 2-INCH C	L.F.	415	\$50.00	\$20,750.00	\$89.25	\$37,038.75	\$89.25	\$37,038.75	\$55.00	\$22,825.00	\$91.48	\$37,964.20	\$89.79	\$37,262.85
68	L-115-5.1	JUNCTION STRUCTURE PLAZA, 4 L-867D SIZE 16" DIAMETER BY 24" DEPTH CANS, INSTALLED	EACH	4	\$10,500.00	\$42,000.00	\$9,450.00	\$37,800.00	\$9,450.00	\$37,800.00	\$15,000.00	\$60,000.00	\$9,686.25	\$38,745.00	\$9,507.34	\$38,029.36
69	L-115-5.2	L-867B LIGHT BASE, INSTALLED IN NEW PAVEMENT	EACH	2	\$2,500.00	\$5,000.00	\$1,470.00	\$2,940.00	\$1,470.00	\$2,940.00	\$2,500.00	\$5,000.00	\$1,506.75	\$3,013.50	\$1,478.92	\$2,957.84
70	L-125-5.1	L-850C(L) LOW PROFILE BASE MOUNTED IN-PAVEMENT RUNWAY EDGE LIGHT, INSTALLED	EACH	1	\$4,000.00	\$4,000.00	\$3,412.50	\$3,412.50	\$3,415.00	\$3,415.00	\$6,000.00	\$6,000.00	\$3,497.81	\$3,497.81	\$3,433.20	\$3,433.20
71	L-125-5.2	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED ON NEW L-867 BASE CAN IN NEW PAVEMENT	EACH	83	\$2,500.00	\$207,500.00	\$1,890.00	\$156,870.00	\$1,890.00	\$156,870.00	\$3,100.00	\$257,300.00	\$1,937.25	\$160,791.75	\$1,901.47	\$157,822.01
72	L-125-5.3	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED ON NEW L-868 BASE CAN IN NEW PAVEMENT	EACH	3	\$2,200.00	\$6,600.00	\$2,625.00	\$7,875.00	\$2,625.00	\$7,875.00	\$3,500.00	\$10,500.00	\$2,690.63	\$8,071.89	\$2,640.93	\$7,922.79
73	L-125-5.4	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED ON EXISTING BASE	EACH	20	\$1,500.00	\$30,000.00	\$603.75	\$12,075.00	\$605.00	\$12,100.00	\$750.00	\$15,000.00	\$618.84	\$12,376.80	\$607.41	\$12,148.20
74	L-125-5.5	L-852T(L) FLUSH IN-PAVEMENT TAXIWAY EDGE LIGHT. INSTALLED	EACH	2	\$4,600.00	\$9,200.00	\$2,887.50	\$5,775.00	\$2,890.00	\$5,780.00	\$5,200.00	\$10,400.00	\$2,959.69	\$5,919.38	\$2,905.02	\$5,810.04
75	L-125-5.6	L-858(L) BASE MOUNTED, 1-MODULE GUIDANCE SIGN. INSTALLED	EACH	1	\$7,000.00	\$7,000.00	\$3,150.00	\$3,150.00	\$3,150.00	\$3,150.00	\$9,000.00	\$9,000.00	\$3,228.75	\$3,228.75	\$3,169.11	\$3,169.11
76	L-125-5.7	L-858(L) BASE MOUNTED, 2-MODULE GUIDANCE SIGN, INSTALLED	EACH	4	\$8,000.00	\$32,000.00	\$4,462.50	\$17,850.00	\$4,465.00	\$17,860.00	\$11,000.00	\$44,000.00	\$4,574.06	\$18,296.24	\$4,489.58	\$17,958.32
77	L-125-5.8	L-858(L) BASE MOUNTED, 3-MODULE GUIDANCE SIGN, INSTALLED	EACH	7	\$9,000.00	\$63,000.00	\$5,775.00	\$40,425.00	\$5,775.00	\$40,425.00	\$13,000.00	\$91,000.00	\$5,919.38	\$41,435.66	\$5,810.04	\$40,670.28
78	L-125-5.9	L-858(L) BASE MOUNTED, 4-MODULE GUIDANCE SIGN, INSTALLED	EACH	2	\$10,000.00	\$20,000.00	\$7,560.00	\$15,120.00	\$7,560.00	\$15,120.00	\$15,000.00	\$30,000.00	\$7,749.00	\$15,498.00	\$7,605.87	\$15,211.74
79	L-125-5.10	L-858(L) BASE MOUNTED, 2-MODULE GUIDANCE SIGN, INSTALLED ON EXISTING BASE	EACH	2	\$3,000.00	\$6,000.00	\$4,042.50	\$8,085.00	\$4,045.00	\$8,090.00	\$4,800.00	\$9,600.00	\$4,143.56	\$8,287.12	\$4,067.03	\$8,134.06
80	L-125-5.11	L-858(L) BASE MOUNTED, 3-MODULE	EACH	2	\$4,000.00	\$8,000.00	\$4,462.50	\$8,925.00	\$4,465.00	\$8,930.00	\$5,600.00	\$11,200.00	\$4,574.06	\$9,148.12	\$4,489.58	\$8,979.16
81	L-125-5.12	L-858 BASE MOUNTED, RETROREFLECTIVE UNLIT TAXIWAY END SIGN, INSTALLED ON PAVEMENT	EACH	1	\$4,200.00	\$4,200.00	\$2,940.00	\$2,940.00	\$2,940.00	\$2,940.00	\$3,800.00	\$3,800.00	\$3,013.50	\$3,013.50	\$2,957.84	\$2,957.84
82	L-125-5.13	VEHICULAR STOP SIGN, INSTALLED	EACH	2	\$1,500.00	\$3,000.00	\$1,750.00	\$3,500.00	\$265.00	\$530.00	\$1,881.89	\$3,763.78	\$1,321.51	\$2,643.02	\$704.25	\$1,408.50

\$11,424,247.89

Corrected Prices

\$14,130,437.50



TOTALS

3 of 3 Garver Project No. 2501188

\$12,505,819.54

\$14,956,493.98

\$16,092,490.93

\$12,431,167.25

## MCKINNEY NATIONAL AIRPORT TAXIWAY C CONSTRUCTION BID TABULATION - BID ALTERNATE 1 TAXIWAY SHOULDER DEDECTION BID OPENING: NOVEMBER 20TH, 2025; 2:00 PM

		BID OF ENTING. INC	V CIVIDER 2	201H, 2025, 2.00 PI	VI											
					ENGINEED	'S ESTIMATE	Mario Sinacol	la & Sons Excavating, Inc.	RPMx Co	onstruction, LLC	We	ebber, LLC	<b>Zachry Construction Corp</b>		SEMA Construction, Inc.	
ITEM	SPEC.			ESTIMATED	UNIT	3 ESTIMATE	UNIT	IIIC.	UNIT		UNIT		UNIT		UNIT	
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
NO.																
1	P-152-4.1	EMBANKMENT IN PLACE	C.Y.	6,000	\$25.00	\$150,000.00	\$25.00	\$150,000.00	\$28.00	\$168,000.00	\$33.69	\$202,140.00	\$40.88	\$245,280.00	\$31.10	\$186,600.00
2	P-208-5.1	10" AGGREGATE BASE COURSE	S.Y.	(14,500)	\$35.00	-\$507,500.00	\$28.00	-\$406,000.00	\$28.00	-\$406,000.00	\$28.16	-\$408,320.00	\$25.00	-\$362,500.00	\$31.20	-\$452,400.00
3	P-403-8.1	ASPHALT MIXTURE SURFACE COURSE	TON	(4,050)	\$250.00	-\$1,012,500.00	\$192.70	-\$780,435.00	\$205.00	-\$830,250.00	\$192.70	-\$780,435.00	\$192.70	-\$780,435.00	\$193.87	-\$785,173.50
4	P-620-5.1a	RUNWAY AND TAXIWAY PAINTING (TYPE III REFLECTIVE MEDIA)	S.F.	(3,090)	\$4.00	-\$12,360.00	\$1.46	-\$4,511.40	\$4.50	-\$13,905.00	\$1.27	-\$3,924.30	\$2.03	-\$6,272.70	\$2.01	-\$6,210.90
5	P-620-5.1c	RUNWAY AND TAXIWAY PAINTING, BLACK (NO REFLECTIVE MEDIA)	S.F.	(1,025)	\$3.75	-\$3,843.75	\$1.03	-\$1,055.75	\$1.50	-\$1,537.50	\$0.76	-\$779.00	\$1.02	-\$1,045.50	\$1.01	-\$1,035.25
6	T-904-5.1	SODDING	S.Y.	14,800	\$6.00	\$88,800.00	\$3.54	\$52,392.00	\$5.25	\$77,700.00	\$6.08	\$89,984.00	\$5.69	\$84,212.00	\$3.56	\$52,688.00
7	L-110-5.1	FLOWABLE FILL ENCASED ELECTRICAL CONDUIT, 1-WAY 2-INCH C	L.F.	(6,500)	\$50.00	-\$325,000.00	\$27.30	-\$177,450.00	\$27.30	-\$177,450.00	\$20.00	-\$130,000.00	\$27.98	-\$181,870.00	\$27.47	-\$178,555.00
8	L-110-5.3	NON-ENCASED ELECTRICAL CONDUIT,1- WAY 2-INCH C	L.F.	6,500	\$20.00	\$130,000.00	\$18.90	\$122,850.00	\$68.20	\$443,300.00	\$17.00	\$110,500.00	\$19.37	\$125,905.00	\$19.01	\$123,565.00
9	L-125-5.2	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED ON NEW L-867 BASE CAN IN NEW PAVEMENT	EACH	(73)	\$2,500.00	-\$182,500.00	\$1,890.00	-\$137,970.00	\$1,890.00	-\$137,970.00	\$3,000.00	-\$219,000.00	\$1,937.25	-\$141,419.25	\$1,901.47	-\$138,807.31
10	L-125-5.14	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED ON NEW L-867 BASE CAN IN TURF	EACH	73	\$2,250.00	\$164,250.00	\$1,338.75	\$97,728.75	\$1,340.00	\$97,820.00	\$2,200.00	\$160,600.00	\$1,372.22	\$100,172.06	\$1,346.87	\$98,321.51
	TOTALS				=	-\$1,510,653.75		-\$1,084,451.40		-\$780,292.50		-\$979,234.30	:	-\$917,973.39	=	-\$1,101,007.45

Corrected Prices



6 of 6 Garver Project

### MCKINNEY NATIONAL AIRPORT RUNWAY 36 EXTENSION BID TABULATION - BID SCHEDULE 2 - AIRPORT ROUNDABOUT BID OPENING: DATE; TIME AM/PM

	BID OPENING: DATE; TIME AM/PM															
				ENGINEER'S	ESTIMATE		& Sons Excavating, Inc.	RPMx Con	struction, LLC	We	bber, LLC	Zachry Co	onstruction Corp	SEMA Construction, Inc.		
ITEM	SPEC.			ESTIMATED	UNIT		UNIT		UNIT		UNIT		UNIT		UNIT	
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
1	500-7001	MOBILIZATION	LS	1	\$275,690.00	\$275,690.00	\$400,000.00	\$400,000.00	\$250,000.00	\$250,000.00	\$273,109.12	\$273,109.12	\$255,000.00	\$255,000.00	\$273,109.12	\$273,109.12
2	502-7001	BARRICADES, SIGNS AND TRAFFIC	МО	12	\$13,390.00	\$160,680.00		\$300,000.00		\$360,000.00		\$311,032.68	· ,	\$600,000.00	\$25,919.39	\$311,032.68
		HANDLING			. ,							· ,		. ,		
3	100-7002	PREPARING ROW	STA	25	\$8,000.00	\$200,000.00	\$3,000.00	\$75,000.00	\$10,000.00	\$250,000.00	\$1,424.82	\$35,620.50	\$75,000.00	\$1,875,000.00	\$1,424.82	\$35,620.50
4	001	STRM WTR POLLUTION PREVENTION PLAN (IMPLEMENTATION)	LS	1	\$104,960.00	\$104,960.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00	\$2,012.13	\$2,012.13	\$320,000.00	\$320,000.00	\$2,012.13	\$2,012.13
5	110-7001	EXCAV (ROADWAY)	CY	1,297	\$40.00	\$51,880.00	\$30.00	\$38,910.00	\$20.00	\$25,940.00	\$55.09	\$71,451.73	\$37.13	\$48,157.61	\$55.09	\$71,451.73
6	132-7006	EMBANK (FNL)(DC)(TY C)	CY	11,982	\$35.00	\$419,370.00	\$30.00	\$359,460.00	\$30.00	\$359,460.00	\$41.68	\$499,409.76	\$19.39	\$232,330.98	\$41.68	\$499,409.76
7	104-7001	REMOV CONC (PAV)	SY	5,757	\$43.00	\$247,551.00	\$9.00	\$51,813.00	\$13.50	\$77,719.50	\$10.73	\$61,772.61	\$8.67	\$49,913.19	\$10.73	\$61,772.61
8	104-7013	REMOV CONC (SIDEWALK, RAMP OR SUP)	SY	34	\$36.00	\$1,224.00	\$15.00	\$510.00	\$10.70	\$363.80	\$26.66	\$906.44	\$94.17	\$3,201.78	\$26.66	\$906.44
9	105-7128	RMV (10"-12") TRT/UNTRT BASE & ASPH	CY	25	\$17.00	\$425.00	\$100.00	\$2,500.00	\$28.00	\$700.00	\$93.94	\$2,348.50	\$136.88	\$3,422.00	\$93.94	\$2,348.50
10	644-7073	REMOVE SM RD SN SUP&AM	EA	8	\$150.00	\$1,200.00	\$410.01	\$3,280.08	\$241.00	\$1,928.00	\$349.11	\$2,792.88	\$150.00	\$1,200.00	\$349.11	\$2,792.88
11	002	REMOVE AND SALVAGE FIRE HYDRANTS (DELIVER TO CITY)	EA	2	\$1,000.00	\$2,000.00		\$3,500.00	\$1,800.00	\$3,600.00	\$2,463.86	\$4,927.72	\$2,500.00	\$5,000.00	\$2,463.86	\$4,927.72
12	003	ADJUST EXISTING WATER VALVE TO	EA	1	\$500.00	\$500.00	\$1,250.00	\$1,250.00	\$535.00	\$535.00	\$3,382.40	\$3,382.40	\$1,000.00	\$1,000.00	\$3,382.40	\$3,382.40
10	360-7013	GRADE CONC PVMT (CRCP) (10.5")	SY	13,188	\$130.00	\$1,714,440.00		\$1,384,740.00	\$118.00	\$1,556,184.00	\$148.79	\$1,962,242.52	\$110.00	\$1,450,680.00	\$148.79	\$1,962,242.52
13	531-7001	CONC SIDEWALKS (4")	SY	1,464	\$75.00	\$1,714,440.00	\$85.00	\$1,364,740.00	\$86.50	\$1,556,164.00	\$78.93	\$1,962,242.52	\$95.55	\$1,450,660.00	\$78.93	\$1,962,242.52
	331-7001	STAMPED AND CLRD CONC. (13.5"	31	1,404	\$75.00	\$109,000.00	φου.υυ	\$124,440.00	Φ00.00	\$120,030.00	\$10.93	\$115,555.52	φ90.00	\$139,000.20	\$10.93	\$110,000.02
15	004	REINF. CONC.) (4000 PSI) (TRUCK APRON) TXDOT ITEM 528	SY	495	\$160.00	\$79,200.00	\$275.00	\$136,125.00	\$310.00	\$153,450.00	\$180.91	\$89,550.45	\$148.41	\$73,462.95	\$180.91	\$89,550.45
16		STAMPED CLRD CONC. (4" REINF.														
	005	CONC.) (4000 PSI) (MEDIAN/SPLITTER ISLANDS) TXDOT ITEM 528	SY	1,891	\$125.00	\$236,375.00	\$148.00	\$279,868.00	\$170.00	\$321,470.00	\$158.29	\$299,326.39	\$110.88	\$209,674.08	\$158.29	\$299,326.39
17	260-7004	LIME (COMMERCIAL LIME SLURRY) (4%)(43.2LB/SY)	TON	304	\$400.00	\$121,600.00	\$320.00	\$97,280.00	\$319.00	\$96,976.00	\$390.85	\$118,818.40	\$323.75	\$98,420.00	\$390.85	\$118,818.40
18	260-7007	LIME TRT (EXIST MATL)(8")	SY	13,962	\$12.00	\$167,544.00	\$14.00	\$195,468.00	\$7.50	\$104,715.00	\$23.15	\$323,220.30	\$6.40	\$89,356.80	\$23.15	\$323,220.30
19	247-7079	FL BS (CMP IN PLC)(TY D GR 1-2)(8")	SY	100	\$25.00	\$2,500.00		\$1,800.00	\$22.50	\$2,250.00	\$52.10	\$5,210.00	\$60.50	\$6,050.00	\$52.10	\$5,210.00
20	341-7001	D-GR HMA TY-B PG64-22	TON	3,086	\$260.00	\$802,360.00		\$444,846.90	\$152.00	\$469,072.00	\$145.02	\$447,531.72	\$144.15	\$444,846.90	\$145.02	\$447,531.72
21	341-7043	D-GR HMA TY-D PG64-22	TON	3	\$500.00	\$1,500.00		\$2,824.80	\$990.00	\$2,970.00	\$947.31	\$2,841.93	\$941.60	\$2,824.80	\$947.31	\$2,841.93
22	310-7015		GAL	4	\$50.00	\$200.00	-	\$620.40	\$165.00	\$660.00	\$156.04	\$624.16	\$155.10	\$620.40	\$156.04	\$624.16
23	529-7006	CONC CURB (MONO)(TY I) (3-IN)	LF	319	\$12.00	\$3,828.00		\$319.00	\$39.15	\$12,488.85	\$10.80	\$3,445.20	\$7.96	\$2,539.24	\$10.80	\$3,445.20
24	529-7006	CONC CURB (MONO)(TY I) (4-IN)	LF	424	\$15.00	\$6,360.00	\$1.15	\$487.60	\$31.20	\$13,228.80	\$10.82	\$4,587.68	\$7.96	\$3,375.04	\$10.82	\$4,587.68
25	529-7007	CONC CURB (MONO) (TY II) (6-IN)	LF	4,509	\$15.00	\$67,635.00	\$2.00	\$9,018.00	\$15.15	\$68,311.35	\$10.50	\$47,344.50	\$7.96	\$35,891.64	\$10.50	\$47,344.50
26	531-7005	CURB RAMPS (TY 1)	EA	8	\$4,000.00	\$32,000.00	-	\$25,600.00	\$3,050.00	\$24,400.00	\$4,248.67	\$33,989.36	\$840.00	\$6,720.00	\$4,248.67	\$33,989.36
27	531-7013	CURB RAMPS (TY 21)	EA	6	\$4,000.00	\$24,000.00		\$19,800.00		\$27,030.00		\$26,831.94	\$840.00	\$5,040.00	\$4,471.99	\$26,831.94
28	540-7001	MTL W-BEAM GD FEN (TIM POST)	LF	375	\$30.00	\$11,250.00		\$10,050.00	\$28.60	\$10,725.00	\$26.96	\$10,110.00	\$26.80	\$10,050.00	\$26.96	\$10,110.00
29	544-7001	GUARDRAIL END TREATMENT (INSTALL)	EA	3	\$3,500.00	\$10,500.00		\$10,407.00	\$3,700.00	\$11,100.00	\$3,490.05	\$10,470.15	\$3,469.00	\$10,407.00	\$3,490.05	\$10,470.15
30	006	FURN & INSTALL STREET HEADER	LF	45	\$100.00	\$4,500.00	\$250.00	\$11,250.00	\$170.00	\$7,650.00	\$484.12	\$21,785.40	\$315.00	\$14,175.00	\$484.12	\$21,785.40
31		FURN & INSTALL 3/8" SW METAL PLATE			ψ.ισσ.ισσ	ψ 1,000100	<b>\$200.00</b>	ψ, <u>2</u> σσ.σσ	ψσ.σσ	ψ.,σσσ.σσ	Ψ.σ	ΨΞ1,100110	ψο.ο.σσ	<b>\$11,110.00</b>	Ψ.σ	ΨΞ1,1 σσ11σ
	007	(INCL. SUPPORTS, ANGLE IRON, AND STEEL STUDS)	EA	5	\$2,500.00	\$12,500.00	\$9,000.00	\$45,000.00	\$7,700.00	\$38,500.00	\$9,976.71	\$49,883.55	\$250.00	\$1,250.00	\$9,976.71	\$49,883.55
32	008	CONC. FLUME (6" REINF. CONC.)(3000 PSI)(INCLD 6-IN CURB)	SY	115	\$120.00	\$13,800.00	\$140.00	\$16,100.00	\$180.00	\$20,700.00	\$77.33	\$8,892.95	\$80.64	\$9,273.60	\$77.33	\$8,892.95
33	009	6" PVC WATER PIPE	LF	10	\$150.00	\$1,500.00	\$225.00	\$2,250.00	\$88.50	\$885.00	\$680.10	\$6,801.00	\$285.00	\$2,850.00	\$680.10	\$6,801.00
34	010	STANDARD FIRE HYDRANT AND	EA	1	\$6,000.00	\$6,000.00		\$13,250.00	\$8,010.00	\$8,010.00		\$14,780.13		\$23,650.00	\$14,780.13	\$14,780.13
35	416-7006	APPURTENANCES DRILL SHAFT (36 IN)	LF	26	\$500.00	\$13,000.00	\$656.00	\$17,056.00	\$480.00	\$12,480.00	\$473.42	\$12,308.92	\$425.30	\$11,057.80	\$473.42	\$12,308.92
36	636-7001	ALUMINUM SIGNS (TY A)	SF	271	\$35.00	\$9,485.00		\$12,181.45	\$48.00	\$13,008.00	-	\$12,254.62	\$44.95	\$12,181.45	\$45.22	\$12,254.62
37																
	644-7001	IN SM RD SN SUP&AM TY10BWG(1)SA(P)	EA	18	\$1,000.00	\$18,000.00	\$675.00	\$12,150.00	\$720.00	\$12,960.00	\$679.10	\$12,223.80	\$675.00	\$12,150.00	\$679.10	\$12,223.80
38	644-7009	IN SM RD SN SUP&AM TY10BWG(1)SB(P)	EA	13	\$1,100.00	\$14,300.00	\$745.00	\$9,685.00	\$795.00	\$10,335.00	\$749.52	\$9,743.76	\$745.00	\$9,685.00	\$749.52	\$9,743.76
39	644-7012	IN SM RD SN SUP&AM TY10BWG(1)SB(T)	EA	4	\$1,000.00	\$4,000.00	\$790.00	\$3,160.00	\$845.00	\$3,380.00	\$794.79	\$3,179.16	\$790.00	\$3,160.00	\$794.79	\$3,179.16



4 of 6 Garver Project

				_	ENGINEER'S ESTIMATE		Mario Sinacola & Sons Excavating, Inc.		RPMx Co	onstruction, LLC	Webber, LLC		Zachry Construction Corp		SEMA Construction, Inc.	
ITEM	SPEC.			ESTIMATED	UNIT		UNIT		UNIT		UNIT		UNIT		UNIT	
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
40	644-7017	IN SM RD SN SUP&AM TY10BWG(2)SA(P)	EA	4	\$2,500.00	\$10,000.00	\$1,590.00	\$6,360.00	\$1,700.00	\$6,800.00	\$1,599.65	\$6,398.60	\$1,590.00	\$6,360.00	\$1,599.65	\$6,398.60
41	678-7002	PAV SURF PREP FOR MRK (6")	LF	6,095	\$0.50	\$3,047.50	\$0.10	\$609.50	\$0.20	\$1,219.00	\$0.10	\$609.50	\$0.25	\$1,523.75	\$0.10	\$609.50
42	678-7004	PAV SURF PREP FOR MRK (8")	LF	6,441	\$0.50	\$3,220.50	\$0.20	\$1,288.20	\$0.63	\$4,057.83	\$0.20	\$1,288.20	\$0.30	\$1,932.30	\$0.20	\$1,288.20
43	678-7008	PAV SURF PREP FOR MRK (24")	LF	498	\$5.00	\$2,490.00	\$1.00	\$498.00	\$2.30	\$1,145.40	\$1.01	\$502.98	\$1.50	\$747.00	\$1.01	\$502.98
44	678-7009	PAV SURF PREP FOR MRK (ARROW)	EA	20	\$40.00	\$800.00	\$50.00	\$1,000.00	\$44.00	\$880.00	\$50.30	\$1,006.00	\$20.00	\$400.00	\$50.30	\$1,006.00
45	678-7016	PAV SURF PREP FOR MRK (WORD)	EA	8	\$40.00	\$320.00	\$50.00	\$400.00	\$48.00	\$384.00	\$50.30	\$402.40	\$25.00	\$200.00	\$50.30	\$402.40
46	666-7009	REFL PAV MRK TY I (W)6"(DOT)(100MIL)	LF	181	\$1.50	\$271.50	\$2.25	\$407.25	\$2.10	\$380.10	\$2.26	\$409.06	\$1.50	\$271.50	\$2.26	\$409.06
47	666-7024	REFL PAV MRK TY I (W)8"(SLD)(100MIL)	LF	6,441	\$1.80	\$11,593.80	\$3.00	\$19,323.00	\$1.90	\$12,237.90	\$3.02	\$19,451.82	\$1.50	\$9,661.50	\$3.02	\$19,451.82
48	666-7036	REFL PAV MRK TY I (W)24"(SLD)(100MIL)	LF	498	\$10.00	\$4,980.00	\$12.50	\$6,225.00	\$11.00	\$5,478.00	\$12.58	\$6,264.84	\$8.00	\$3,984.00	\$12.58	\$6,264.84
49	666-7042	REFL PAV MRK TY I (W)(ARROW)(100MIL)	EA	20	\$220.00	\$4,400.00	\$150.00	\$3,000.00	\$223.00	\$4,460.00	\$150.91	\$3,018.20	\$175.00	\$3,500.00	\$150.91	\$3,018.20
50	666-7066	REFL PAV MRK TY I (W)(WORD)(100MIL)	EA	8	\$220.00	\$1,760.00	\$200.00	\$1,600.00	\$260.00	\$2,080.00	\$201.21	\$1,609.68	\$260.00	\$2,080.00	\$201.21	\$1,609.68
	TOTALS					\$5,789,299.80		\$4,612,668.33		\$5,122,621.18		\$5,485,424.22		\$6,731,402.86		\$5,485,424.22

Corrected Prices



5 of 6 Garver Project



# CITY OF MCKINNEY PROCUREMENT SERVICES BID NUMBER: 26-03ITB NEW TAXIWAY C AND AIRPORT ROUNDABOUT BIDS RECEIVED UNTIL THURSDAY, NOVEMBER 20, 2025 @ 2:00 PM

### **AS READ BID OPENING RESULTS**

	Bidder's Name	Bidder's Name Addenda Bid Bond Bid Schedule 1 Acknowledged Present Amount			В	Bid Alternate 1 Amount	Bid Schedule 2 Amount	Total Amount (Bid Schedule 1 + Bid Alternate 1 + Bid Schedule 2)	
1	Mario Sinacola & Sons Excavating, Inc	Х	Х	\$	11,424,247.89	\$	(1,084,451.40)	\$ 4,612,668.33	\$ 14,952,464.82
2	RPM xConstruction, LLC	Х	Х	\$	12,431,167.25	\$	(780,292.50)	\$ 5,122,621.18	\$ 16,773,495.93
3	SEMA Construction, Inc	Х	Х	\$	16,092,490.93	\$	(1,101,007.45)	\$ 5,485,424.22	\$ 20,476,907.70
4	Webber, LLC	Х	Х	\$	12,505,819.54	\$	(979,234.30)	\$ 6,731,402.86	\$ 18,257,988.10
5	Zachry Construction Corporation	Х	Х	\$	14,956,493.98	\$	(917,973.39)	\$ 5,042,434.99	\$ 19,080,959.58